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Question No. 1

HAHR aIC Fal g7
AsaH T FI5 Ahed g B)gforce
C)aforet D)seafaar

Where is Angkor Wat?

A)None of the options B)Egypt
C)Berlin D)Cambodia
Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 1) (objection.aspx?qwr=3310338613&qwer=1)

Question No. 2

et @ell 7 & fras oy Sgew RAe w9 &1 d@ady 87

A)gTehr B)arehearer
Cyeiter 2o D)pester

With which of the following sports is Jules Rimet Cup associated?

A)Hockey B)Basketball
C)Lawn Tennis D)Football
Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 2) (objection.aspx?qwr=3310338613&qwer=2)

Question No. 3
ST vd AR F Togdrer A fAgfFa e Far 82
A)TeITeTHAT B)3=d ~AIITel & HTH ~grardier
C)IsT & HEIHc D)Irsgafa

=<

Who appoints the Governor of Jammu and Kashmir?
A)Prime Minister B)Chief Justice of the High Court
C)Chief Minister of the state D)President

Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 3) (objection.aspx?qwr=3310338613&qwer=3)
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Question No. 4
T AW F 10% FHANS T I IAT| IR 3W $.80 FA W €T 1, dF 10% HT FHame G gicn| F7RMer Hr
ARTT AT AT 872
A)%.390 B)%.400
C)%.600 D)%.450

A machine was sold at 10% profit. If it was sold for Rs.80 less, there would have been a loss of 10%. What is
the cost price of the machine?

A)Rs.390 B)Rs.400
C)Rs.600 D)Rs.450
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 4) (objection.aspx?qwr=3310338613&qwer=4)

Question No. 5
I vw T # 95% o 39y AR 18 o IquYT A, & T & oEt i Fo WEAr Faw|
A)360 B)450
C)500 D)400

If 95% of the students were present in a school and 18 students were absent, then find the total number of
students in the school.

A)360 B)450
C)500 D)400
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 5) (objection.aspx?qwr=3310338613&qwer=5)

Question No. 6

R yereT 7l o RAde, 2018 7 &8 Reehr 7 # ST O Wiew dF $ir eI
A3zt wefsaa B)dTelsheRT Eef3a#H

C)frarsit w3 D)sfeRT amelr w3

Indian Prime Minister launched the 'India Post Payments Bank' at the in New Delhi in
September, 2018.

A)Ambedkar Stadium B)Talkatora Stadium

C)Shivaiji Stadium D)Indira Gandhi Stadium

Answer Key : B Your Response : A (Wrong) Raise Objection(Question No. 6) (objection.aspx?qwr=3310338613&qwer=6)

Question No. 7
Iy 'HIM' &1 31 '936' &, 3iX 'CAM' &7 3% '39' § ar 'MAP' & faT =RIT #ig gem?
A)114 B)400
C)208 D)98



If 'HIM' means 936, and 'CAM' means 39, what will be the code for 'MAP'?

A)114 B)400
C)208 D)98
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 7) (objection.aspx?qwr=3310338613&qwer=7)

Question No. 8

T & T3t 3R Fg affa vt #1 v &= ae FEHT A El

A)250 B)245

C)233 D)222

Rajya Sabha consists of members representing states and union territories.

A)250 B)245

C)233 D)222

Answer Key : C Your Response : A (Wrong) Raise Objection(Question No. 8) (objection.aspx?qwr=3310338613&qwer=8)

Question No. 9
fArfaf@d STy # FEuEigEs 9§ AR AT R{e 7w e #1 3oR/ &1 v @i F 99 o= P, Q) R,
'S, T, U IR W B T &I 9 Fe, Ao, The, W, o, Dol 3R Y TT F FUS T6A §U F1 AT H @
oher, sfRal §1 IS o R Fe, Do T X T F FUF A Te gU @1 'V, T A 95 § 3N o F93
Te 8, SafF T X FI3 TeA §C E1 P A Ao I8 §, SR A T8 'Q' A @ AT Tge €1 R, few T8
gC €, Safh 3w e IreoT Avd W UF a9 §1 el & @ Hlawr wp Faw wsfRl w sl
FAT 82
A faaiRa =18t forar S @ehar B)Q, R 3R U
c)Q, s 3R R D)Q, S 3R U

Read the following information carefully and answer the question given below. 'P', 'Q’, 'R’ 'S', 'T", 'U' and 'W'
are seven students playing in a garden. They are wearing clothes of black, blue, white, green, pink, yellow
and brown colours. Out of seven, three are girls. No girl is wearing black, yellow, or brown. 'U' is the sister of
T' and is wearing pink, while 'T' is wearing brown. 'P' is wearing blue, while his sister 'Q' is not wearing green.
'R’ is wearing yellow, while his best friend 'W' is a boy. Which of the following groups represents only girls?

A)Cannot be determined B)Q, Rand U
C)Q,SandR D)Q,Sand U
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 9) (objection.aspx?qwr=3310338613&qwer=9)

Question No. 10

SR Aforer feafaf@a & & fRraer er T 82

A)EeheaTed B)=rgared I
C)adgIed D)gerehell i

Who among the following was called as the "Indian Napoleon"?



A)Skandagupta
C)Samudragupta

Answer Key: C  Your Response : C (Correct)

B)Chandragupta Il

D)Pulakeshin I
Raise Objection(Question No. 10) (objection.aspx?qwr=3310338613&qwer=10)

Question No. 11

39 o A, et FyaT 7 v ¥ Owd a1 9 fAswd Re aw §) 39 st ar g S afdes s & qe
39gFT ¢l FU: 1. F6 Yoensat asd §) 2. : o wew S gt ¢ 3. W o S §1 e ) 7o
Yeantsat ga g1 1) o Yaenfsar siorer §1 1) $& Gor Yaentsar §1 V) #5 of a5F o 6 ¢

Aydhad fasey | gRom g
C)dhaer fasawy |V gRome gl

B)shad fassy Il gRome
D)dhael sy || gRome gl

In this question, three statements are given followed by four conclusions. Choose the conclusion(s) that best

fit(s) logically. Statements: 1) Some trains are roads. 2) No road is jungle. 3) All flowers are jungle.

Conclusions: |. Some trains are flowers. Il. Some trains are jungles. lll. Some flowers are trains. IV. No road is

flower.
A)Only conclusion | follows
C)Only conclusion IV follows

Answer Key : C  Your Response : C (Correct)

WA HL: 560 + 36.50 x 20
A)324.96
C)315.21

Simplify: 560 + 36.50 x 20
A)324.96
C)315.21

Answer Key : B Your Response : B (Correct)

B)Only conclusion Il follows
D)Only conclusion Il follows
Raise Objection(Question No. 11) (objection.aspx?qwr=3310338613&qwer=11)

Question No. 12

B)306.85
D)336.14

B)306.85

D)336.14
Raise Objection(Question No. 12) (objection.aspx?qwr=3310338613&qwer=12)

Question No. 13



el # @ 37 3T & g7 A A" RBU v Yo w wEd =0

T T W FLT B
I/

R i~
R SN

Choose from the alternatives the figure that best completes the

pattern given below.
,\"/;
/ !
(

R K
RS RS

Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 13) (objection.aspx?qwr=3310338613&qwer=13)

Question No. 14



& a¥ qd, 4 Wt & URarR #r 3ua g 24 af B 3@ & AC T Joa & INaR i e Iy gdad g
g1 ol Y FAAT Y FAY, Tg AAR 6 3 WY HT Hee) 2§ B
A)6 a¥ 3R 4 a¥ B)5 a¥ 3R 3 aw
C)7 a¥ 3R 5 a¥ D)8 a¥ 3ik 6 a¥

Ten years ago, the average age of a family of 4 members was 24 years. Two children having been born, the
average age of the family is the same today. What are the present ages of the two children, assuming that the
children's age differ by 2 years?

A)6 years and 4 years B)5 years and 3 years
C)7 years and 5 years D)8 years and 6 years
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 14) (objection.aspx?qwr=3310338613&qwer=14)

Question No. 15

TSITHT & QUaT & qdART aar Sl §2
A)STHad g B) eI el 37TeTTG
C)sa# & #15 fasweq AT D)371%0T Sicelr

Who is the present leader of Opposition in Rajya Sabha?

A)Jaswant Singh B)Ghulam Nabi Azad
C)None of the options D)Arun Jaitley
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 15) (objection.aspx?qwr=3310338613&qwer=15)

Question No. 16



fom T et 7 ¥ 3 AT A A ST A ST e T e v e (2)

FT 31

N
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Choose the number from the given options that would best replace the
question mark (?) in the figure below.

ARYARYAR
QPANPAAP,

10

17

Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 16) (objection.aspx?qwr=3310338613&qwer=16)

Question No. 17



e, Tger & oF T g1 AT IR g, At 24 Frelefiex T E1 AR AR oA 7 frdlefe/eer
3R 3% @Rt AT T FAT F AT 14 w2 §| FAT H AR FT gGT T

A)3 fpa/eer B)7 Tpai/eer

C)4 faref/eer D)5 ferefieer

Amit is faster than Rahul. Amit and Rahul each walk 24 km. The sum of their speed is 7 km/hr and the sum of
times taken by them is 14 hours. Find the speed of Amit.

A)3 km/hr B)7 km/hr
C)4 km/hr D)5 km/hr
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 17) (objection.aspx?qwr=3310338613&qwer=17)

Question No. 18

T & frw To @Y i afeEt #r A Fer ST 32
A)3cR eeT B) 3o
C)dstrer D)gfRamom

Which of the following Indian states is known as the ‘Land of five rivers'?

A)Uttar Pradesh B)Gujarat
C)Punjab D)Haryana
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 18) (objection.aspx?qwr=3310338613&qwer=18)

Question No. 19
fA=faf@a el & aEuEiqEs 9§ 3R A Re a1 waT & 3a) &1 9T - P, 'Q, R, 'S AR T
e T, e, e, AR F RaT IR T FRU aRg § aFa s afi F a s wa F eh () P
3R 'R Rem ar wiet F [ g a8 & (i) 'Q 3R T REwar a1 B & ad4Gt F [ ot a8 E i)
&7 R RFwer #1 'P' A S AT AT &1 (iv) 'S' AR T T 3R REFor F AT 9Rdg TE E (v) 'S
e & v ulg A8 &1 od JOF F A Hr 18 S w1 T=™9T fifGw)
A)P-fAEY & adeT B)sod & $IS ke oTal
C)T-&7 D)R-dfear

Read the following information carefully and answer the question given below. Five cities—'P', 'Q’, 'R’, 'S' and
'T' are famous for their garden, painting, education, pottery and scents, but not necessarily in the same order.
(i) 'P' and 'R' are not famous for education or garden. (i) '‘Q' and 'T" are not famous for painting or pottery. (ii)
Scents and painting have nothing to do with 'P'. (iv) 'S' and 'T" are not famous for garden and painting. (v) 'S’
is not famous for education. Choose the pair which is wrongly matched.

A)P—pottery B)None of the options
C)T—scent D)R—painting
Answer Key: C  Your Response : B (Wrong) Raise Objection(Question No. 19) (objection.aspx?qwr=3310338613&qwer=19)

Question No. 20



Yood SISl T TEAYSH Pl a1?
A)fawer fasop B)&om

c

C)Adaaie D)Fggade

Who is the founder of the Pallava Dynasty?

A)Simha Vishnu B)Krishna
C)Nandivarman D)Mahendravarman
Answer Key : A Your Response : C (Wrong) Raise Objection(Question No. 20) (objection.aspx?qwr=3310338613&qwer=20)

Question No. 21
& 280 #Hiex welr &7 63 Rrr/Eer #r afa ¥ T Wr {1 Brawr A%z F I 95 F IR T FwM?
A)16 Ths B)20 %3
C)18 4%s D)15 d%s

A train 280 m long is running with a speed of 63 km/hr. In how many seconds will it pass the tree?

A)16 seconds B)20 seconds
C)18 seconds D)15 seconds
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 21) (objection.aspx?qwr=3310338613&qwer=21)

Question No. 22

frwer qand|

A)325 B)315

C)423 D)207

Find the ODD one out.

A)325 B)315

C)423 D)207

Answer Key: A Your Response : C (Wrong) Raise Objection(Question No. 22) (objection.aspx?qwr=3310338613&qwer=22)

Question No. 23

TS FI T G e arelT 2537 HRAT T Hlar §7?
A)RafFRa B)amrar
C)37T%0TIel TRl D) AR

The 25th Indian state to achieve statehood is-

A)Sikkim B)Goa
C)Arunachal Pradesh D)Mizoram
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 23) (objection.aspx?qwr=3310338613&qwer=23)

Question No. 24



TH HR ar Tt A 3R B & g gerch 1 A & B d& S 9A7Y, 8 3T afd 40 By /ger g ik B &
A TF a9 3 FHT 60 et / der &1 q¥r Amar & dRier e aifar & gar erend

A)50 fRefi/eer B)46 faraf/aer

C)36 farafi/eer D)48 feref/erer

A car runs between two stations A and B. While going from A to B, its average speed is 40 km/hr and while
coming back from B to A is 60 km/hr. Find the average speed during the whole journey.

A)50 km/hr B)46 km/hr
C)36 km/hr D)48 km/hr
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 24) (objection.aspx?qwr=3310338613&qwer=24)

Question No. 25

TF BT F Fa9 TF T SHAA # & @v T By & fiF = F;

THIAT HITAT|
(1) (2) (3 )
%) (6) (7 8 9
A 67 289345 B. [1L47 269358

C. 89256347 D. Ea&% @ @S A5t




Group the given figures into three classes using each figure only

once.
(1) 2) (3 4
(5) (6) (7 )] 9

A 1,67 2,89 3,45 B. 14,7 2569 3,538

C. 1,8,9; 2,5,6; 3,4,7 D. |Moneofthese
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 25) (objection.aspx?qwr=3310338613&qwer=25)

Question No. 26

T e, g@ed TR AR R TeeE & A ¥ 3T qfAe F AT widr & 75 o4
A)eER w337 &a B)sAH & FIS ke 78T
C)FIRRT Fd D)AIS w3IF *hd

Bhagat Singh, Sukhdev Thapar, and Shivaram Rajguru were hanged for their role in-

A)Lahore Conspiracy Case B)None of the options
C)Kakori Case D)Meerut Conspiracy Case
Answer Key: A Your Response : B (Wrong) Raise Objection(Question No. 26) (objection.aspx?qwr=3310338613&qwer=26)

Question No. 27
TF IS F 9 1600 T A, IS T ¥ TS TT 4% IR AV 4.5% WS W W 3K & Rl sv 91 F
¥ #H ol 67 FTUT WIS §UI 38 4% A1 & W e $9¢ 3R RE 47
A)¥.760 B)¥.920
C)%.1000 D)¥.640

A man had Rs.1600, part of which he lent at 4% and the rest at 4.5%. The whole amount of interest received
was Rs.67. How much did he lend at 4%?

A)Rs.760 B)Rs.920

C)Rs.1000 D)Rs.640



Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 27) (objection.aspx?qwr=3310338613&qwer=27)

Question No. 28

T 1 TR T T AT AedTal H1 A1 fa@mar 7 21 57 &l®, 39
HEAT T AT KT ST 387 Gl F 719 ¢ Forad 2 faar v 2)

2 2 2 6

C. |4 D. |38 & FI$ A4l

Four different positions of the same dice are shown below. Find the
number on the face opposite to that contains 2.

2 2 2 6

C. |4 D. |Noneof these

Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 28) (objection.aspx?qwr=3310338613&qwer=28)



Question No. 29
FAGTAR 12% 3R 5% i G & F a6, T a] F 209 FIC W =T IR A1 TG A aR<ifah HaAd =41
@
A)¥.226 B)%.252
C)%.269 D). 250

After successive discounts of 12% and 5%, an article was sold for Rs.209. What was the original price of the
article?

A)Rs.226 B)Rs.252
C)Rs.269 D)Rs.250
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 29) (objection.aspx?qwr=3310338613&qwer=29)

Question No. 30

3 Hiex #1 fhder gfaera 75 J# &2
A)20% B)24%
C)22% D)25%

How much percentage of 3 metre is 756 cm?

A)20% B)24%
C)22% D)25%
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 30) (objection.aspx?qwr=3310338613&qwer=30)

Question No. 31

AR wfaue & Pfaf@d 7 § i sqede swsgefa & o & w6l 82

A) e 81 B) 31Tz 44
C)3fede 66 D)3 91

Which of the following Articles of Indian Constitution deals with the election of Vice-President?

A)Article 81 B)Article 44
C)Article 66 D)Article 91
Answer Key:C  Your Response : A (Wrong) Raise Objection(Question No. 31) (objection.aspx?qwr=3310338613&qwer=31)

Question No. 32
S@er A qU H 3, 7, 15, 31, (), 127
A)91 B)63
C)35 D)93

Find the missing number in the following series. 3, 7, 15, 31, (...), 127
A)91 B)63



C)35 D)93
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 32) (objection.aspx?qwr=3310338613&qwer=32)

Question No. 33
AT & A 9 9 dcd 7 A FH GRS 3RS #§ 90 = H FHGTT 82

A)BREHRE B)aAT8eISTeT
C)Raforsia D)grefRrge

Which of the following elements is least likely to be found in commercial fertilisers?

A)Phosphorus B)Nitrogen
C)Silicon D)Potassium
Answer Key:C  Your Response : A (Wrong) Raise Objection(Question No. 33) (objection.aspx?qwr=3310338613&qwer=33)

Question No. 34

C 3R D vs fRafRa Sier §1 E 3R F aget & D(@sh & aed a2)), E 1 767 §1 F, C ¥ & waftg &2
A)FEr B)AT
C)dgt D)&Telr

C and D are a married couple. E and F are sisters. D (eldest of all) is the sister of E. How is F related to C?

A)Daughter B)Mother
C)Sister D)Sister-in-law
Answer Key: D  Your Response : D (Correct) Raise Objection(Question No. 34) (objection.aspx?qwr=3310338613&qwer=34)

Question No. 35



mmﬂmﬁeﬁﬁﬁqummﬁl
Fafaraa aifeeT &F fafte veR & el & € au H femar g 81

e Bt gt o o fopmman

2 4 i 10 15 20
feander o fradte e frader  fHamdier
- &0t 5 =0T 9 ¥UY 1350 UL 1725 ©UC.2225 ©4UU 26

- UL 750 wUE 1450 ¥=UU 2425 UL 3325 +UE 4575 55 75'

m FTOU.10 FYL.19 FOU.31  TUL.4150 UL.56.50 EUC.69
Hie: 3w git & forg uft frardter T oa= 2

3fod 17 farieR &t Igdl | 98 99 U 30T amET %nﬁa—cﬁrﬁa
@ 9F & 491G, 98 39 a“)ﬁw%aﬂ?ﬁm%l it & fpam T @g

A [FUT4250 B. [FUT4825

C. [®uuss D. [EUu60

Study the following table and answer the question given below it.
The following table represents the fare in rupees for three different types
of vehicles.

Fare for distance up to
2 km 4 km 7 km 100km | 15km | 20km

Bus Rs.5 Rs.9 Rs.13.50 | Rs.17.25 | Rs.22.25 | Rs.26

Share auto | Rs.7.50 | Rs.14.50 | Rs.24.25 | Rs.33.25 | Rs.45.75 | Rs.55.75

Taxi Rs.10 Rs.19 Rs.31 Rs.41.50 | Rs.56.50 | Rs.69

Note: Fare per km for intermittent distance is the same

Ajith wants to travel a distance of 17 km. He starts his journey by bus. After
travelling 7 km, he changes to taxi for the remaining distance. How much
money is to be spent in all?

A Rs.42.50 B. Rs.48.25
C. Rs.55 D. Rs.60
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 35) (objection.aspx?qwr=3310338613&qwer=35)

Question No. 36
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Choose the alternative which closely resembles the paper fold of the

given figure.
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Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 36) (objection.aspx?qwr=3310338613&qwer=36)

Question No. 37

fAfaf@d # & fras e Frel Hifa & ST 82



A)RIIAT 3Tt B)&&T T 3cUTe
C)HTaT 3cUIgeT D) ool & 3cdigeT

With which of the following productions is Black Revolution associated?

A)Coal production B)Mustard production
C)Fish production D)Crude oil production
Answer Key:D  Your Response : A (Wrong) Raise Objection(Question No. 37) (objection.aspx?qwr=3310338613&qwer=37)

Question No. 38
T FRAW # Afgelmr IR GOV AfFSE & < F7 3qard 2: 7 § 5T 40 AR Afger FAAd S §, ar e
FEl X 6 1 7 B S &1 FREW H il o AAF &7
A)80 B)70
C)90 D)50

The ratio between the female and male workers in a factory is 2 : 7. When 40 more female workers join, the
ratio changes to 6 : 7. How many male workers are there in the factory?

A)80 B)70
C)90 D)50
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 38) (objection.aspx?qwr=3310338613&qwer=38)

Question No. 39
uﬂa@@sﬁ%qjﬁmmaﬁmm@aﬁsﬁm
AT B)a< als
C)gpeal D)HFhaTol

Former Asian Games champion Ganpatrao Andalkar was associated with-

A)Tennis B)Sprint
C)Wrestling D)Boxing
Answer Key: C  Your Response : Not Answered Raise Objection(Question No. 39) (objection.aspx?qwr=3310338613&qgwer=39)

Question No. 40

g IIA Lot S I AT ¥ BT B

A)81, 144 B)16, 64
C)25, 64 D)49, 100
Find the ODD one out.

A)81, 144 B)16, 64
C)25, 64 D)49, 100

Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 40) (objection.aspx?qwr=3310338613&qwer=40)



Question No. 41

T G & Aol T dar$ 69.28 Hex &1 5HH 3T AT hfAw|
A)64000# et B) 24000 e
C)52000#eT® D)36000#e<

A cube has a diagonal 69.28 m long. Find its volume.

A)64000 m? B)24000 m?
C)52000 m? D)36000 m?
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 41) (objection.aspx?qwr=3310338613&qwer=41)

Question No. 42
A R o weer U RRufY sga ar ¢ 3R vy 3w Ry oRfPufa F an F vk o & v Fear B
& 71§ SRR F IHUR W 3l e | Aot 2@ FAT 3] AR 37 IR S Toh TG WeNe 7 @rer
IHTET T e A1 AEHA e Colfdsied Bher W W8T 7 gdAHar ¢, 3R 7 @3l s g IWer A FIRRr aa
E| 519 aF 3] U FoH AR FET 9F63 A §, T TF 37 F TS TH HoWT H&AT A A6 T g )
3o & |t weAd § & g ol s 825 §1 Il) 31 & OR WeAd € T 3ifaw IR e 7192 §1 1) 3o
¥ IR HgAd ¢ 6 9igd s 3 B IV) 36 & 9K deAd § & dll d&r 6 §; 9 3y weAd § B ol
H&T o 6 &1 P deR W RN F AN [ g 30w dHEer 87

A)8256631792 B)8256367192

C)8256637192 D)8253667192

The question given below presents a situation and asks you to make a judgment regarding that particular
circumstance. Choose an answer based on the given information. Anu and her four friends while watching
television wanted to order food in a local restaurant. The mobile number flashes on the television screen
briefly, and they all try to remember it. By the time Anu grabs a pen and paper, each of them recollects a
different number. I) All of them agree that the first three numbers are 825. Il) Four of them agree that the last
four numbers are 7192. Ill) Four of them agree that the fifth number is 3. IV) Four of them agree that the
fourth number is 6; four others agree that the sixth number is also 6. Which of the numbers is most likely the
mobile number of the restaurant?

A)8256631792 B)8256367192
C)8256637192 D)8253667192
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 42) (objection.aspx?qwr=3310338613&qwer=42)

Question No. 43



fmfaf@a v & AR Yoo @ wEuEiqEs 96 3R AT Re 70 e #1 3ee’ &1 37gaR 3aeT & () 7
¥ FA 55% 3 & AT TaF @ (i) 1 HEd, 2017 F YeaA A 30 I§ & FA AR 3WFaA 3y 35
a¥ ¥ 3w A& gl wfRw (i) YT Buioe & w7 ¥ 40000 TIC F P F= F BT TR A (v) 7
¥ FA 3 af F FH FG F I @l (v) R-T olew F w7 & F7 50% 3F & 99 BFAr @ (vi)
FANT WETHR H A & FH 40% 36 & 99 fFar @ 3y 37figar (i) F (vi) aF T 3T ATEs
@ AV g 3¥ AT Seam| Rl 3 A % Siel 3Rficar Wl ATYEs F QU e @ R () F,
AP 3T IRRA/FIRRTH F QAT Aogar & T youd & W-F=Aas i Bl F F7 § F7 55% 3P
wed AT @), Y 3UF A P GM-TEAd & I ST 2wl R 0 A #F et 39icar sl Araes
R FA/ & Rare (i) F, AT a7 1 af & s W FERR &A@ & AT IR &), aF 38 AFa FF SVP-
TETe & 9T AT genl A 3FigaR & el F15 gEew wA B, ar 3¢ AT Sar F w9 F A w@fgel
ifcieh T Sfedl 12.12.1986 FI §3M ATl 38N TS # 56% 3% Wead e &1 364 a8 wam iR AfFaera
WETHR At 7 55% 3 o red fFw &1 ag 1 9§ & vz W gFaRR & & v o =R &

A)3FHIEAR FF GM-THeTol HI AT g B)3FHicar &I fagera frar s =nfgw

C)3+HICaR & TTA AT fohdT ST Tehell & D)3er 393Ted

Study the following information carefully and answer the question given below. The candidate must: (i) Be a
graduate in any discipline with at least 55% marks. (ii) Be at least 30 years and not more than 35 years as on
1 February 2017. (iii) Be ready to pay Rs.40000 as security deposit. (iv) Have work experience of at least 3
years. (v) Have cleared the written examination with at least 50% marks. (vi) Have cleared the personal
interview with at least 40% marks. In case a candidate satisfies all the other criteria from (i) to (vi), he/she
shall be selected. In case a candidate satisfies all the other criteria EXCEPT (i), but has secured at least 55%
marks in post graduate in Management with specialization in Economic/Statistics, the case is to be referred
as GM-Personnel. In case a candidate satisfies all the other criteria EXCEPT (iii), but is ready to sign a bond
of 1 year, the case is to be referred as SVP-Personnel. If there is any loss of information in the candidate
details, it should be treated as Data Inadequate. Karthik was born on 12.12.1986. He has secured 56% marks
in graduation. He has also secured 55% marks in both the selection examination and personal interview. He
is ready to sign a bond for 1 year.

A)The candidate has to be referred as GM-Personnel B)The candidate has to be selected

C)The candidate cannot be selected D)Data inadequate
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 43) (objection.aspx?qwr=3310338613&qwer=43)

Question No. 44
frder auf & 150 ¥UU 8% H & W Idx SATST F 3cUIGsT I, 5= 800 FUU 3 AT H 4.5% &7 W
3G T §7
A)12 B)8
C)6 D)9

In how many years will Rs.150 produce the same interest at 8% as Rs.800 produces in 3 years at 4.5%?
A)12 B)8



C)6 D)9
Answer Key: D  Your Response : D (Correct) Raise Objection(Question No. 44) (objection.aspx?qwr=3310338613&qwer=44)

Question No. 45
Flerlr FE&ar Y RE 1T deyr Fr Fad g dF F U HEM? 49 1 81 12100 : ?
A)64 B)170
C)144 D)169

Which number will best complete the relationship given below? 49 : 81 :: 100 : ?

A)64 B)170
C)144 D)169
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 45) (objection.aspx?qwr=3310338613&qwer=45)

Question No. 46
R vat F & A ot & Raarsr ARy @6ftT 82
A)SETS B)gg u#
C)oie aa D)fewg eret

With which religion is the Dilwara temple associated?

A)Bahai B)Buddhism
C)Jainism D)Hinduism
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 46) (objection.aspx?qwr=3310338613&qwer=46)

Question No. 47



21,1 1
A e - ‘i :i+ 1
2--2- 24—
T4 s
3-2
3
A 1.26 B 2.85
C. 397 D 521
21,1 1
Simplify: ? %+ I
2--2- 2+ i
74 et
3—=
3
A 1.26 B 2.85
C. 3.97 D 5.21

Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 47) (objection.aspx?qwr=3310338613&qwer=47)

Question No. 48

29 ¥ 79 aF el FEA¢ 11 & g e Renfara g sl §2



A)4 B)S
C)8 D)12

How many numbers from 29 to 79 are exactly divisible by 11?

A)4 B)5
C)8 D)12
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 48) (objection.aspx?qwr=3310338613&qwer=48)

Question No. 49

39 Tashed &1 = 7 St 47 72 e 7 #ad A= afde= o 99 FIG1 g el ik
ZU & XY AT TG SA14T 2|

X




Choose the alternative that best resembles the mirror image of the
given figure when the mirror is held along XY.

X

O . [e
. [P » [

Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 49) (objection.aspx?qwr=3310338613&qwer=49)

Question No. 50

95.75 31X 0.02554 & I[UTTher ¥ A foig & a1$ W frcer W+ 3i ghar?
A)5 B)8
C)6 D)7

How many significant digits will be there to the right of the decimal point in the product of 95.75 and 0.02554?

A)5 B)8
C)6 D)7
Answer Key:C  Your Response : D (Wrong) Raise Objection(Question No. 50) (objection.aspx?qwr=3310338613&qwer=50)

Question No. 51
UF TG # a5 AR wefat B wEar # I 3 2 ¥ AR 20% W% AR 25% @A omEgfed are &,
ot P T ovt @ o E Bred 32
A)56% B)80%
C)70% D)78%

The ratio of the number of boys and girls in a school is 3 : 2. If 20% of the boys and 25% of the girls are
scholarship holders, what percentage of the students do not get scholarship?

A)56% B)80%

C)70% D)78%



Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 51) (objection.aspx?qwr=3310338613&qwer=51)

Question No. 52

& 7% 3 F Fraw Fege 87

How many triangles are there in the given figure?

Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 52) (objection.aspx?qwr=3310338613&qwer=52)



Question No. 53
wF Q3 fr FEm AR 3 3w fr A Fr gee & god @ g A% @ F i #woIR 27 ¥ AR
3HE 3T FT AT 7 ¥, {T WEAT A §7?
A)25 B)58
C)52 D)43

The difference between a two-digit number and the number obtained by interchanging the digit is 27. If the
sum of the digit is 7, what is the original number?

A)25 B)58
C)52 D)43
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 53) (objection.aspx?qwr=3310338613&qwer=53)

Question No. 54

PR F T THET FT T g 872
A)TegHATH grRIgIFaTSS B)diefger agce
C)A3TH FoRISS D)Rear siAES

Which of the following chemicals is used in photography?

A)Aluminium hydroxide B)Potassium nitrate
C)Sodium chloride D)Silver bromide
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 54) (objection.aspx?qwr=3310338613&qwer=54)

Question No. 55

i H&AT M R 7T Heer H GO dgaR aF F U F0EM? 36 : 64 2 811 ?
A)49 B)121
C)25 D)16

Which number will best complete the relationship given below? 36 : 64 :: 81 : ?

A)49 B)121
C)25 D)16
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 55) (objection.aspx?qwr=3310338613&qwer=55)

Question No. 56

F e Fa RAgia W FH Far §?
AyaifaafFa s axeor B)&eid &1 foa#
C)7gea & Iecareh¥or &1 foras D)&huerR &1 foras

What is the principle on which a rocket works?

A)Conservation of momentum B)Coulomb's law



C)Newton’s law of gravitation D)Kepler’s law

Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 56) (objection.aspx?qwr=3310338613&qwer=56)

Question No. 57
fArafaf@a sl #t gauet & 9§ 3R M Re v go 1 3w &1 1) B A v ¢ AR & 7w
39T (T ¥ wad o), g (Wl F W@ 73n) W AT §1 ) GHAT A A F Raw G, S A Ager ik
Iy geelr FAfa Hr T T & §1 1) AT F I3 FE B T F faw A 3R Aok o F wed 73
A A fBFam V) Aiga fr g90 A 38 F Q) 79 9 AR Foew A1 V) AT & @ AR g § Wwa @
¥ oler AR A F 93 AR AR, QA & W & 93§ VI) JgT AR e gAT R Asw F g7 E V)
e T Fr T T AT, A AgeT § F Wt §2
INGAG G B)&arH
C)agT D)#AT

Read the following information carefully and answer the question given below. I) Mithran has a daughter and
two sons Usha (youngest of all), Raghu (eldest of all) and Suman respectively. II) Suman married Roja, the
eldest daughter of Mr. Mohan and his wife Sumathi. Ill) Mohan married their youngest daughter to the eldest
son of Mr. and Mrs. Sharma. IV) Mohan youngest daughter had two children Sandeep and Sanjana. V)
Mohan have two more children, Roshan (Younger than Roja and Elder than Bhaskar) and Bhaskar, both are
elder to Seetha. VI) Rohan and Raju are sons of Suman and Roja. Vi) Leela is the daughter of Sandeep.
How is Mrs. Mohan related to Suman?

A)Grandmother B)Mother-in-law
C)Father-in-law D)Mother
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 57) (objection.aspx?qwr=3310338613&qwer=57)

Question No. 58

A=faf@a & ¥ a3 7 FIFA 329 9 2018 3har &2
NEECO SERRE
C)EIat D)shie

Which of the following countries won the FIFA World Cup 2018?

A)Argentina B)Croatia
C)Spain D)France
Answer Key:D  Your Response : C (Wrong) Raise Objection(Question No. 58) (objection.aspx?qwr=3310338613&qwer=58)

Question No. 59
WA FL [(14)? x (16)3 + (25)2
A)18 B)25.55
C)80.28 D)60

Simplify: [(14)? x (16)7] + (25)2



A)18 B)25.55
C)80.28 D)60

Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 59) (objection.aspx?qwr=3310338613&qwer=59)

Question No. 60
R & PR § ¥ 5 T & 3 F98 FmEr aRer aedr 82
AsAH T ®I5 Ahed g B) =i
C)31Fa D)

Which of the following places in India receives highest rainfall as of now?
A)None of the options B)Cherrapuniji
C)Agumbe D)Mawsynram

Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 60) (objection.aspx?qwr=3310338613&qwer=60)





